
A B C

D

GENUINE PARTS

INSTALLATION INSTRUCTIONS

DESCRIPTION: Mud Flap - Rear Kit

APPLICATION: Frontier Pro 4X/Pro-X (w/ over fenders)

PART NUMBER(S) 

REQUIRED FOR 

INSTALLATION:

T99J2 9BUx4

KIT CONTENTS:

Page 1 of 4
 T99J2 9BUx4 II 

Rev. 08/26/2021



 Mild soap / water mixture 

 Clean Rag

 #2 Phillips head screw driver



PART NUMBER(S) 

REQUIRED FOR 

INSTALLATION:

T99J2 9BUx4

KIT CONTENTS:

Item Qty. Part Description Service Part Number

A 1 Mud Flap Rear RH Available as kit only/

Kit PN# T99J2 9BU14 (Pro-4X) or

Kit PN# T99J2 9BU24 (Pro-X) 

B 1 Mud Flap Rear LH

C 1 Installation Instruction Website Address

D 4 Screw M5 x 20 mm 14-51 00891

TOOLS REQUIRED:  

Loctite ® Blue 243 Threadlocker

10 mm Socket/Driver or #3 

Phillips head screw driver

INSTALLATION CAUTIONS:

CAUTION

● Dealer installation recommended.

● Please read this instruction carefully before installing this product for correct installation.

● Please DO NOT use or install part in ways other than what is described.

● These installation instructions are for left side of vehicle; same procedure applies to right side.

Page 2 of 4
 T99J2 9BUx4 II 

Rev. 08/26/2021



INSTALLATION PROCEDURE:

1)

2)

3)

Clean shaded area with soap and water mixture and dry.

Remove two (2) existing screws and discard.

Remove and save existing M6 bolt for re-use.

Fig. 1

Fig. 2

Fig. 3

Clean shaded area

Page 3 of 4
 T99J2 9BUx4 II 

Rev. 08/26/2021



INSTALLATION PROCEDURE: (continue)

4) Align mud flap to vehicle.

5)

6)

7)

NOTE: 

Do not over tighten screws. Reference Tighten 

Torque: 2 N-m {17.7 in-lb}

Install supplied screws - 20mm (D) in middle then top 

hole, push up and into vehicle while tightening. 

NOTE: 

Do not over tighten screw. Reference Tighten 

Torque: 3.8~4.4N-m {34~39 in-lb}

Hold mud flap up and into vehicle and re-install M6 bolt.

Apply Loctite ® Blue 243 threadlocker to threads 

(shaded area) on M6 bolt.

13-16 N-m

Fig. 4

Fig. 5

B

D

Push

D

Push

Push

B

(1)

(2)

Page 4 of 4
 T99J2 9BUx4 II 

Rev. 08/26/2021


